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1255

Zw = 2.2 1073 | ——F——
w=2.277x 10 (T—|—273.16

+ 0.05) r- Py, (m) (26)
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(27)

P = 61l exp ( 17.269T )

T+ 237.3
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T(s)="To+ 78 (30)
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A = do dpA 6
e = i W A 00) (39)
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7(0,¢) = 10(0) + Ar() cos ¢ (40)
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Ay(8,9) = cAr(f)sinfcos¢sin

- gAT(H) sin 0 sin 26 (42)
A.(6,9) = —cAT(0)cosbcos¢ (43)

000 (39)0000000000000000DDO0 X0U0000DO0O0O0D0O0O0O0OOO0OO

62

A== ‘ A7(6) sin 0d0 (44)
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AT(0) = a-m(0) (46)
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AT = m(e) cot(e)[Gy cos(¢) + Gy sin(¢)] (47)
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U.S.Standard Atmosphere 1976 with Earth Curvature
Altitude limit (km) = 40.0, Humidity (%) = 0.0
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